> restart
> Ecua = (sqrt(x--2 —y(x)--2) +y(x)) —x-diff (y(x),x) =0

)
Ecua —\/x—y +y x(%y )= (€))
> SolGralUno = dsolve(Ecua)

SolGralUno = —arctan( J-l—ln — CI=0 )
X’ _y

> SolGralDos = simplify(isolate(SolGralUno, y(x

sin( - In(x) + C])\/x cos(-In(x) + CI)

I SolGralDos =y(x) = - cos(~In(x) + CI) A3)
| > with(DEtools) :
> odeadvisor(Ecua)
i [[_homogeneous, class A), rational, dAlembert] )
> FEcuaDos := expand(eval(subs(y(x) =v(x)-x, Ecua)))
EcuaDos =+ x* — v(x)zx2 — (% v(x) ) ¥=0 )
=> odeadvisor(EcuaDos)
i [[_homogeneous, class G] _ratzonal] (6)
> FEcuaTres == x-sqrt(1 —v(x)--2) —x--2-diff (v x) =
EcuaTres:=x+ 1 —v(x)* — (% v(x )) ¥=0 W)
=> odeadvisor(EcuaTres)
i [ _separable] ®
> SolGralTres = subs(v(x) = %, separablesol( EcuaTres) )
SolGralTres == { % —sin(In(x) + CI) } )
=> SolGral = isolate(SolGralTres[1], y(x))
i SolGral .= y(x) =sin(In(x) + CI) x 10)
>P=x;0=y1—V;Ri=-x-2;8:=1
P:=x
0=y -V +1
R:=-x
| S=1 an
. _y . (P . S _
> SolGralCuatro = isolate| subs| v= e int E,x + int E, vi|=C,y
SolGralCuatro .=y =sin(C +In(x)) x (12)

> restart
> Ecua = p(x)-y(x) +diff (y(x),x) =0

12\



SolGral = dsolve(Ecua)

[ (~p() dx
SolGral :=y(x)= _Cle
MM = p(x) y
MM:=p(x)y
NN =1
NN =1

ComprobacionUno = diff (MM, y) — diff (NN, x) =0
ComprobacionUno :=p(x) =0

(
diff (MM, y) — diff (NN, x)

1
SolGraLFactor = Int| — =Int
olGraLFactor n ( mu,mu) n( NN

SolGraLFactor := 'i du= ‘p(x) dx
Ju -

diff (MM, y) — diff (NN, x)

(1 iy
SolGralFaclnt := mt( — mu) mt( NN
SolGralFaclnt = In( ) ZJp(x) dx

FactInt = isolate(SolGralFaclnt, mu)

p(x) dx
Factlnt == p= ej

Ecua

EcuaFExacta ‘= rhs(Factint) - (Ecua)

EcuaExacta = JP(X) o (p(x) y(x) + — (x)) =0

> with(DEtools) :

> odeadvisor( EcuaExacta)

[ separable]

separablesol( EcuaExacta)

| (o ) |
y(x) = i
yt= 70 (e
Jp(x) dx
MM =e p(x)y
JP(X) dx
NN =¢
NN = er(X) dx

SolGralCinco = int(MM, x) + int( (NN — diff (int(MM, x), y) ), y)

13)

(14)

1s)

(16)

a7

(18)

19)

(20)

@1

(22)

(23)

(24)

(25)

(26)



_ ejp(x) &
i SolGralCinco =y =C 27
> SolGralSeis = isolate(SolGralCinco, y)

SolGralSeis .=y = (28)




